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~ Polynomial Review
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e / +/ Yoo

Co20 (x4 3xY) - 2(1 4 x% — 4at) + 28

5

“*X +12x” Zx -2X +%>¢l +><

Iy O ax P Y
| ZDX -—X + 2><
Multiply
> (2x_—3)2€5x2+4x_7% (=22 +3~c+4)(3r Sx+6) (O
_OxT Mx -
ISR %ﬂ s/j
| D
Xqy > T\ %x
- D5 \2x 1\ N “LOX
tox‘* X=X ALY -
Divide ‘h( _ b W\ = 3 ‘;{"\
5. E{v -IC-DS:\-I-ZH 2ro2e i)+ (x+3) 6 91;}) 65}67(3%\:}X+?X @
@ 2 1T 1y | A T

& 7 g Ay AL
| X gt “é\/x’c?)

OB (—8x +7)

m
UM‘ 9> +1\»<"L 2(a% 412 )—

]

(Zx %3




Graph without calculator
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a) Identify the degree of the polynomtal
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d) ldentify the y-intercept
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e) Sketch a graph the function
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11 Th function y— x —5 2—32' 36 th x-axis at

'>4 -SX ’32>< "’?(0 B 0 *;7‘
e
X —O Eu N

I\ - -3 Tk SEREERaSEEESSAR/R
\ L\ L{ _ @ ‘ M!I"" ]
@q)(x"*wwt\)

(xJﬂCX*'DLM?)

2
12.) Simplify: x_1s - ifs

Lot
A
]

2x+10 3x+15
14.)bivide: -+
) x2+5x+6 x?+2x

¥ r\0 2xx\ O AN T -
SN Heoxte BXHD g (xAS)




